Soustraire Deux Fractions Mixtes (A)

Nom: Date: Note:

Calculez chaque différence.

1 3% — 1% =
2 6% — 5% =
3 7% — 5% =
4 8% — 51—12 =
5 6% — 31—64 =
6 9% — 11% =
7 6% — 21—2 =
8 7% — 3% =
9 10%1 — 4% =
10 9% — 2% =
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Soustraire Deux Fractions Mixtes (A) Réponses

Nom:

3% a 11% 287
st - 8
9% B 11% 789
6% - 2% 691
7% a 3% 11264
g - ¥

Date:

Calculez chaque différence.

24
16

84

54 _ 24
16 16
1o _ 93
18 18
100 _ 72
14 14
100 _ 61
12 12
86 _ 48
14 14
158 24
16 16
12253
18 18
124 _ 60
16 16
188 _ 84
18 18
84 21
9 9

30

16

26

18

28

14

39

12

38

14

134
16

69
18

64
16

104
18

Note:

19)
Ol
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